ITEM NO.| PART NUMBER DESCRIPTION QTY.

1 185.600.140-01 SOFT WASH FRAME BASE PLATE I
2 |85.600.221-08R2  |BASE PLATE SHOCK ABSORBER 2
3 [85.660.009HD(R2) |RUBBER FOOT KIT 85 SHORE A DUOMETER | 4
4 |NA FLAT WASHER, M8X20, 2mm THICK-ZINC PLATED| 4
FLAT WASHER, M10X40, 3mm THICK-ZINC
< T 5 |NA PLATED 2
e L ! kS
O = 6 |INA Nylock Nut, M8, ZINC PLATED 4
i A! i t
|
T | ]
‘_—/4_
= =

NOTES:

. I (= = ) ﬁ 1. RUBBER FEET TO BE ASSEMBLED.
2.  SHOCK ABSORBERSE AND THE RELATED HARDWARE TO BE PACKED IN A PLASTIC BAG.

3. ENTIRE ASSEMBLY TO BE PACKED IN A CARDBOARD BOX.

A A A
NAME DATE | TITLE:
UNLESS OTHERWISE SPECIFIED: | DRAWN BY: HAMIDL | 09/27/21
DIMENSIONS ARE IN MM AA ss AA
POW ER TOLERANCES: CHECKED BY: RG 10/01/21 FRA E FI NAI. A E BI.Y
ANGULAR BENDS: +1°
EQUIPMENT | oncrace DECivAL <01 APPROVAL BY:
TWO PLACE DECIMAL: +0.01
NOTE: DO NOT SCALE DRAWING
PROPRIETARY AND CONFIDENTIAL MATERIAL COMMENTS: SIZE IDWG. NO REV
THE INFORMATION CONTAINED IN THIS FIRST RELEASE : )
REVISIONS DRAWING IS THE SOLE PROPERTY OF BE POWER 1 Og)A/i‘JLCL;JI'E\A(I“N Lng/)\ 5 B 85 600 ‘I 40 ‘l
EQUIPMENT. ANY REPRODUCTION IN PART OR . . .
REV. DESCRIPTION NAME DATE CHECKED | AS A WHOLE WITHOUT THE WRITTEN PERMISSION [ FiisH
OF BE POWER EQUIPMENT IS PROHIBITED.
1 INITIAL RELEASE Q SEE DETAILS SCALE: 1:4 | WEIGHT: 4086.84 | SHEET 1 OF 8




339+1

60+1

41+0.5

'_

|

|

4

H

|

|

|

1]

H

O

— 15+0.5 |
+1 !
oN |
Lo i
N |
30+0.5 |

iE

0l

H

[N

|

|

[0.19]
4.76 (TYP)

55

20+0.5(TYP)
40+0.5(TYP)

—— 7 ———————————————————— g ————

473+

_____ L L B B g

___________ i [ ——

NOTES:

3
b\\ __.L_LLl.Ll___________.I_I_Ll_____l_ll____l._m
Ogb

GAP AROUND THE BENDS
TO BE FILLED WITH WELDMENT

1. INSIDE RADIUS TO BE 7.5mm FOR ALL THE BENDS
2. THE APPLIED GUSSETS ARE 8mm WIDE, 3mm DEEP, AND 3mmTHICK.
3. REMOVE SHARP EDGES, AND WELDSLAG
4.

BE ESEEEIEHT

ANGULAR BENDS: *1°
ONE PLACE DECIMAL: +0.1
TWO PLACE DECIMAL: £0.01

NAME DATE
UNLESSS%I'HSERWISE SPECIFIED: DRAWN BY: HAMID L | 09/24/21
DIMENSIONS ARE IN MM
TOLERANCES: CHECKED BY: RG 10/01/21

APPROVAL BY:

NOTE: DO NOT SCALE DRAWING

TITLE:

SOFT WASH FRAME BASE

PLATE

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF BE POWER
EQUIPMENT. ANY REPRODUCTION IN PART OR
AS A WHOLE WITHOUT THE WRITTEN PERMISSION
OF BE POWER EQUIPMENT IS PROHIBITED.

MATERIAL

COMMENTS:

1060 ALUMINUM, 5
GAUGE (4.76mm)

FINISH

NATURAL

FIRST RELEASE

SIZE

B

DWG. NO.

85.600.140-01

REV

1

SCALE: 1:4 | WEIGHT: 2474.22 | SHEET2 OF 8




525

UP 90° R7

DOWN 90° R7

... DOWN9YO°KR7

k———

~
v
o | &2
3 X & %)
AN| ™M vl
=
Q|
=
¢ ;
,,,,,,,,,,,,,,,,,,,,,,, ~ DOWN90°R7 |
UP 90° R7
a| o]
> >
= =
— ™ NOTES:
~ ™~ 1. THIS PAGE SHOWS BENDING DETAILS.
2 NAME DATE
UNLESS OTHERWISE SPECIFIED: DRAWN BY: HAMID L | 09/24/21
TDcl)Af\EEg/ﬂ?cNEszRE INMM CHECKED BY: RG 10/01/21

B2 EauipMENT

ANGULAR BENDS: +1°
ONE PLACE DECIMAL: *0.1
TWO PLACE DECIMAL: +0.01

APPROVAL BY:

NOTE: DO NOT SCALE DRAWING

TITLE:

SOFT WASH FRAME BASE

PLATE

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF BE POWER
EQUIPMENT. ANY REPRODUCTION IN PART OR
AS A WHOLE WITHOUT THE WRITTEN PERMISSION

OF BE POWER EQUIPMENT IS PROHIBITED.

MATERIAL

COMMENTS:

1060 ALUMINUM, 5
GAUGE (4.76mm)

FINISH

NATURAL

FIRST RELEASE

SIZE

B

DWG. NO.

REV

85.600.140-01 1

SCALE: 1:3 | WEIGHT: 2477.03| SHEET 3 OF 8



525

473
403 ]
o
>
O]
S
AN
&)
- 26.4(TYP)
™
o~
- |
7 !
8o, &I
— = <®, Ol |
5 & o) |
O i | | 15+0.5(2PLS) al D
I Q ! — il
7o} — - ! — o o
o~ @) a) @) ‘ N N
o0 S0 S0 | S 9
S NI S ¥ | N = J
N — © — I RS
0 - i QE’_)
— | @ }
i
313.0C-C(HOLD) \ | W
! |
@
\_ Pa
/Pgoq
81+]1 75.0 s

NOTES: NAME DATE | TITLE:

1. THIS PAGE SHOWS PUNCHING DIMENSIO DETAILS. UNLESS OTHERWISE SPECIFIED: DRAWNBY: | HAMIDL | 09/27/2] FRAME FINAI_ ASSEMBLY
BE POWER TOLERANCES: CHECKED BY: RG 10/01/21

ANGULAR BENDS: #1° -
EQUIPMENT | ooy oo

NOTE: DO NOT SCALE DRAWING

PROPRIETARY AND CONFIDENTIAL MATERIAL COMMENTS: SIZE DWG NO REV
THE INFORMATION CONTAINED IN THIS 1060 ALUMINUM, FIRST RELEASE ’ )

DRAWING IS THE SOLE PROPERTY OF BE POWER 5 GAUGE (476} B 85 600 1 40 1

EQUIPMENT. ANY REPRODUCTION IN PART OR
AS A WHOLE WITHOUT THE WRITTEN PERMISSION [ FiNisH

OF BE POWER EQUIPMENTIS PROHIBITED. SEE DETAILS SCALE: 1:4 | WEIGHT: 4086.84| SHEET 4 OF 8




of & %)
0 ot &
__________ ~ ]
o
e +1
L o a
| | (@) N
| | —
©8.0(2PLS)
(M8 THREADS
©®40.0

NOTES:

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED. APPLICATION

5 4

NEXT ASSY USED ON

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACH+  BEND #
TWO PLACE DECIMAL =
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL
RUBBER, 65DUROMETER HARDNESS,
& M8 BOLTS EMBEDED IN

FINISH
BLACK RUBBER

DO NOT SCALE DRAWING

3

DRAWN HAMID L 07/17/17
12/12/17  TITLE:

CHECKED
ENG APPR.
MFG APPR.

Q.A.
COMMENTS:

FIRST RELEASE

1. DRAWING FOR THE SHOCK ABSORBER IS NOT MEANT TO BE EXACT. A SIMILAR PART MIGHT BE AVAILABLE IN
THE MARKET THAT COULD BE SUBSTITUTE, BUT OVERAL SHAPE, AND DIMENSIONS MUST BE HOLD.

2. THE BOLT BLOCKS ARE EMBEDDED IN THE RUBBER.
3. IN THE 2nd. VERSION, ADDED 8mm TO HEIGHT OF THE RUBBER PART (SEE COMMENTS)

BE POWERE EQUIPMENT INC.

SHOCK ABSORBER

SIZE DWG. NO. REV
A 85.600.221-08 2

SCALE: 1:1 WEIGHT: 464.11 SHEET 5 OF 8



1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 85.660.009HD-01R2  |[RUBBER FOOT (BLACK) 1
2 85.600.009HD-02R2  [RUBBER FOOT SPACER (BLACK), 15mm THICK 1
3 NA FLAT WASHER, M8X25, 2mm THICK- BLACK ZINC PLATED 1
4 NA BOLT- HEX HEAD, M8X45- BLACK ZINC PLATED 1
5 NA FLAT WASHER, M8X16, 2mm THICK- BLACK ZINC PLATED 1
6 NA Nylock Nut, M8, BLACK ZINC PLATED 1

NOTES:
1. ENTIRE ASSEMBLY TO BE PACKED AS A KIT.
2. IN THE 2nd. REVISION, HARDNESS IS CHANGED TO 80+5 SHORE A DUROMETER (WAS 85).

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

<INSERT COMPANY NAME HERE>, ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF NEXT ASSY USED ON
<INSERT COMPANY NAME HERE> IS

PROHIBITED. APPLICATION

2

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACH+  BEND *
TWO PLACE DECIMAL =
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL
SEE DETAILS

FINISH
BLACK (SEE DETAILS)

DO NOT SCALE DRAWING

NAME DATE

DRAWN HAMID L 03/10/20 BE POWER EQUIPMENT INC.
CHECKED DN | 04/29/20 TITLE:

o RUBBER FOOT KIT 85
QA SHORE A DUOMETER

IN THE 2ND. REVISION, SIZE DWG. NO.

REV

HARDNESS IS CHANGED A 85.660.009HD 2

TO 80+5 (WAS 85)
SCALE: 1:1.5

1

SHEET 6 OF 8

A



N
N
______ j V-V
R
| |
1 1
———
Z)
—
o
o)
~O
NOTES:

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF

<INSERT COMPANY NAME HERE> IS
PROHIBITED. APPLICATION

NEXT ASSY USED ON

14

D28

\VA

| [

SECTION A-A

1. DO NOT USE RECYCLED MATERIAL.
2. MATERIAL TO BE BLACK EPDM, 80+ -5 SHORE A DUROMETER HARDNESS.
3. IN THE 2nd. REVISION, HARNESS IS CHANGED TO 80+5 SHORE A DUROMETER (WAS 85).

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACH+  BEND *
TWO PLACE DECIMAL =
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIALEPDM, 80+5 SHORE A
DUROMETER

BLACK

DO NOT SCALE DRAWING

FINISH

NAME DATE
DRAWN HAMID L 03/06/20
CHECKED DN 04/29/20
ENG APPR.
MFG APPR.
Q.A.

COMMENTS:

IN THE 2nd. REVISION,
HARDNESS IS CHANGED TO
80+5 SHORE A DUROMETER
(WAS 85).

TITLE:
RUBBER FOOT
(BLACK)
SIZE DWG. NO.

REV

A 85.660.009HD-O1 2

SCALE: 1:1.5 WEIGHT: 71.73

1

SHEET 7 OF 8



15

1.
2.
3.

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED.

NEXT ASSY

2

USED ON

APPLICATION

NOTES:

DO NOT USE RECYCLED MATERIAL.

MATERIAL TO BE BLACK EPDM, 80+ -5 SHORE A DUROMETER HARDNESS.
IN THE 2nd. REVISION, HARNESS IS CHANGED TO 80+5 SHORE A DUROMETER (WAS 85).

UNLESS OTHERWISE SPECIFIED: NAME DATE

DIMENSIONS ARE IN INCHES DRAWN HAMID L 03/06/20
TOLERANCES:

FRACTIONAL CHECKED DN

ANGULAR: MACH+  BEND *

TWO PLACE DECIMAL  + ENG APPR.

THREE PLACE DECIMAL + MFG APPR.

INTERPRET GEOMETRIC Q.A.

TOLERANCING PER: COMMENTS:

MBIERAK EPDM, 8045 SHORE A
DUROMETER

BLACK

DO NOT SCALE DRAWING

IN THE 2nd. REVISION,
HARDNESS IS CHANGED
TO 80+5 (WAS 85)

FINISH

05/04/20 TITLE:

RUBBER FOOT SPACER
(BLACK), 15mm THICK

SIZE DWG. NO. REV
A 85.600.009HD-02 P

SCALE: 1:1

1

WEIGHT: 42.70 = SHEET 8 OF 8

A



